IPL’s

Beam Assembly

25T 30T 35T
Iltem KitNo.  Description Item KitMo. Description tem KitMo. Description
1 E22591  Beam 25T, with 1 622504  Beam 30T, with 1 622597  Beam 35T, with
PowerPro Decals PowerPro Decals PowerPro Decals
2 622524 8" Wedge, 25T 2 624190 8" Wedge, 30T 624191 8" Wedge, 35T
3 E22906 4" Cylinder Kit 3 622522 45" Cylinder Kit 3 622545 5" Cylinder Kit
with Decals with Decals with Decals
4 622608 “alve, 4100 PSI 4 622546  ‘alve, 4000 PSI 4 622523  Valve, 3668 PSI
S 622520 Beam Lock 5 622520 Beam Lock 3 622520 Beam Lock
B 622576  Log Catcher G 622576 Log Catcher G 622576  Log Catcher
7 622492 Hardware Kit 7 622492 Hardware Kit 7 622549  Hardware Kit
ot "l . nict 4 57 Cylinder Seal not . .
28 shown 623308 4" Cylinder Seal Kit shown G23309 Kit shown 623310 5" Cylinder Seal Kit



IPL’s

Wheel Assembly
25T & 30T 35T
Item  Kit No. Description Itern  Kit No. Description
1 622492 Hardware Kit, Bracket 1 622549 Hardware Kit, Bracket
2 540031280 4.87 X 8" Wheel Assembly 2 S400312B0  4.8" X 8" Wheel Assembly

29

INTERNATIONAL



IPL’s

Tank Assembly

4
7
LI
:':s::-!;"-
L T
-
&
25T 30T 35T o=y l 1
Item Kit No. Description Itemn  Kit No. Description Item Kit No. Description
1 B22526 Assembly Tank, 25T 1 6226822 Assembly Tank, 30T 1 622626 Assembly Tank, 35T
2  B22528 Filter Assembly Kit 2 B22528 Filter Aszembly Kit 2  EB22528 Filter Azssembly Kit
3 622529 Vent Cap Assy 3 B22529 ‘ent Cap Assy 3 B22529 Vent Cap Assy
4 (224597 Hose Kit, Bracket 4  B22497 Hose Kit, Bracket 4 622497 Hose Kit, Bracket
Hardware Kit, , Hardware Kit, 5 622549 Hardware Kit, 35T
5 622492 25T & 30T 5 622492 25T & 30T ,
30 BLOUNT

INTERNATIONAL




IPL’s

25T with Kohler SH265

35T with Kohler CH395

Item Kit Mo. Description liem Kit No. Description
1 622558 Motor, Kohler SH265 1 622567 Mator, Kohler CH395
2 622535 SM Pump Mount Assembly Kit 2 523939 LG Pump Mount Assembly Kit
3 623656 Kohler SH265 CPLR Kit 3 623657 Kohler CH395 CPLR Kit
4 622538 Pump 2-Stage 14 GPM 4 622548 Pump 2-Stage, 17 GPM

25T with Honda GX200

35T with Honda GX270

Item  Kit No. Description tem Kit No. Description
1 622561 Motor, Honda GX200 1 622565 Motor, Honda GX270
2 622535 5SM Pump Mount Assembly Kit 2 623939 LG Pump Mount Assembly Kit
3 623658 Honda GX200 CPLR Kit 3 623659 Honda GX270 CPLR Kit
4 622536 Pump 2-Stage 14 GPM 4 622548 Pump 2-Stage, 17 GPM

30T with Kohler SH265

Item Kit Mo. Description
1 622558 Motor, Kohler SH265
2 622535 5M Pump Mount Azsembly Kit
3 623656 Kohler 5H265 CPLR Kit
4 622536 Pump 2-Stage, 14 GPM
31

Motor Assembly

INTERNATIONAL



IPL’s

Tongue Assembly

25T & 30T 35T

Item  Kit Ho. Description Item  Kit Ho. Description
1 622530 Tongue Assembly Ground Stand Kit 1 B22575 Tongue Assembly Jack Stand Kit
2 622533 Ground Stand Kit 2 B22578 Jack Stand Kit
3 622532 Zin Ball Coupler Kit with Chains 3 622532 2in Ball Coupler Kit with Chains
4 622452 Hardware Kit, 25T & 30T 4 E27540 Hardware Kit, 35T

32

INTERNATIONAL




IPL’s

Item  Description Quantity 25T & 30T
1 Ciust cap 2 Item  Description Quantity
2 4 % 30 Cotter Pin 2 13 M8 x 40mm Bolt 4
3 M22 Castle Nut 2 14 M8 Flat Washer 8
4 M22 Flat Washer 2 15 M8 Lock Washer 4
= M12 x 110mm Socket Head Cap Screw 2 16 MBE Mut 4
6 M12 Flat Washer 5
7 M12 Lock Washer 6 35T
B M12x25mm Socket Head Cap Screw 2 ltem  Description Quantity
9 ME Flat Washer 3 13 M10 = 45mm Bolt 4
10 M12 x 35mm Bolt 2 14 M10 Flat Washer 8
11 ME x 20mm Hex Head Screw 3 15 M10 Lock Washer 4
12 Hex Key 1 16 M10 Mut 4
17 Pin 1
622492 Hardware Kit for 25T & 30T
18 R-Clip 1 622549 Hardware Kit for 35T
19 M12 Mut 2 €D 2 3 ()
33

INTERNATI

NA



